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Registration details

User name CAPT May 2023 (not case sensitive)

Registration code 987-743-643-996-170
(you can omit the 

dashes if you prefer)

When you open the 
software, answer NO
to the question of do 
you want to register

Navigate to: 
➢ Help 
➢ Register

Input the details below



LEAP resources available

Low Emissions Analysis Platform



LEAP resources available: Training materials



LEAP resources available: User guide



LEAP resources available: YouTube training videos



In order to develop the scenarios described in the previous section, a pre-existing model, the Low 
Emissions Analysis Platform (LEAP), was used. LEAP is an integrated, scenario-based modelling tool that 
can be used to track energy consumption, production and resource extraction in all sectors of an 
economy. The benefits of using LEAP in this project are:

• It is a model that is familiar to key stakeholders around the world and has been used for previous 

modelling exercises, so will allow for greater comparability with previous GHG scenarios.

• The LEAP model has been used for NDCs and LTSs

• The model is relatively simple to use.

• The model is free for developing countries to use

• Its low initial data requirements are well suited to a country like Uganda where accessing robust data 

has been, and will continue to be, a challenge.

• It presents outputs in a transparent and intuitive way.

Introduction to LEAP



LEAP can be intimidating
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Basic structure of LEAP model: 
The Tree and its branches
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Using LEAP



LEAP: Settings input



LEAP: Settings input
Settings input



Interface: Overview



Interface: Analysis
Branches

Variables

Expressions

Information



Interface: Analysis – Adding branchesBranches



Interface: Analysis – Variables

Technology with Total Energy

Technology with Energy Intensity



Interface: Variables - Expressions

Branches Expression Scale Units Per



Top-down methodology: Variables

Technology with Total Energy



Bottom-up methodology: Variables

Technology with Total Energy



Type Syntax Example Syntax and Graph

Simple Number Value 3.1415

Simple Formula Value (operator (+ - / *)) value 0.1 * 5970

Growth Rate Growth(annual % growth) Growth(3.2%)

Interpolation Interp(Year, value, year, value) Interp(2000, 40, 2010, 65, 2020, 80)

Step Step(Year, value, year, value) Step(2000, 300, 2005, 500, 2020, 700)

Remainder Remainder(Value)
Variable A: 70

Variable B: Remainder(100) (=30)

Branch 
and Variable References

Branch (operator) Value Passenger: Activity Level + 10%

GrowthAs GrowthAs(Branch,elasticity) GrowthAs(Key\Income,1.1)

Interface: Expressions



Interface: Variables – Multiple effects



Interface: Scenarios
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Scenario inheritance



Interface: Results
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LEAP exercise: Part 1: Settings

• Create new LEAP area
• Name this area

1. Settings

1. Base year: 2020

2. First scenario year: 2021

3. End year: 2035



LEAP exercise: Part 2: Current accounts – Demand

• Current accounts 

• Demand

• Cat: Households: 8 million

• Cat: Cooking: 100% share

• Tech: Natural gas: 100% share

• Energy intensity: 400 kWh

• Effects: IPCC Tier 1 Natural Gas Residential

Mitigation scenariosBaselineCurrent accounts



LEAP exercise: Part 3: Current accounts – Transformation

• Transformation

• Cat: Transmission and distribution

- Simple non dispatched model

- Losses

• Processes:

• Tech: Electricity

• Feedstock fuels: Electricity

• T&D losses: 18%

Mitigation scenariosBaselineCurrent accounts



LEAP exercise: Part 4: Current accounts – Electricity generation

• Cat: Electricity generation (w/ capacities)

- Output fuels: Electricity

- Processes: 

• Tech: Existing coal

• Feedstock fuel: Coal bituminous

• Dispatch rule: FullCapacity

• Exogenous Capacity (MW): 1000

• Efficiency (%): 30

• Maximum availability (%): 70

• Historical production (GWh): 6132 GWh

• Effects: Coal Tier 1 Default

Mitigation scenariosBaselineCurrent accounts



View results



LEAP exercise: Part 5: Baseline – Electricity generation

• Create Scenario - BAS: Baseline

• Demand

• Households: 8 million = Growth(3%)

- Cooking: 100%

• Natural gas: 100%

• Energy intensity: 400 kWh – Interp(2035,450)

• Effects: IPCC Tier 1 Natural Gas Residential

Mitigation scenariosBaselineCurrent accounts



LEAP exercise: Part 6: Baseline – Electricity generation

• Transformation

• Transmission and distribution

- Processes:

• Electricity

• Feedstock fuels: Electricity

• T&D losses: 18% = Interp(2035,16%)

Mitigation scenariosBaselineCurrent accounts



LEAP exercise: Part 7: Baseline – Electricity generation

• Electricity generation

- Output fuels: 

• Electricity

- Processes: 

• Existing coal

• Dispatch rule: FullCapacity

• Exogenous Capacity (MW): 1000 = Step(2030,1250)

• 2020 (BY) = 1000 : 2025 = 1000 : 2030 = 1250 : 2035 = 1250

• Efficiency (%): 30

• Maximum availability (%): 70

• Historical production (GWh): 6132

• Feedstock fuel: Coal bituminous

• Effects: Coal Tier 1 Default

Mitigation scenariosBaselineCurrent accounts



View results
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LEAP exercise: Part 5: Baseline – Electricity generation

• Demand

• Households: 8 million = Growth(3%)

- Cooking: 100%

• Natural gas: 100%

• Energy intensity: Interp(2035,450) –

• Interp(2035, BaseYearValue * 0.8)

• Effects: IPCC Tier 1 Natural Gas Residential

Mitigation scenariosBaselineCurrent accounts



LEAP exercise: Part 5: Baseline – Electricity generation

• Transformation

• Transmission and distribution

- Processes:

• Electricity

• Feedstock fuels: Electricity

• T&D losses: 18% = Interp(2035,12%)

Mitigation scenariosBaselineCurrent accounts



LEAP exercise: Part 5: Baseline – Electricity generation

• Electricity generation

- Output fuels: Electricity

- Processes: Existing coal

• Exogenous Capacity (MW): 

Step(2030,750,2035,500)

• 2020 (BY) = 1000 : 2025 = 

1000 : 2030 = 750 : 2035 = 

500

• Efficiency (%): 30

• Maximum availability (%): 70

• Historical production (GWh): 

3500

• Feedstock fuel: Coal 

bituminous

• Effects: Coal Tier 1 Default

• New solar 
• Exogenous Capacity (MW): 1000 =

Step(2030,250,2035,500)

• 2020 (BY) = 0

• 2025 = 0

• 2030 = 250

• 2035 = 500

• Efficiency (%): 100

• Maximum availability (%): 20

• Historical production (GWh): NA

• Feedstock fuel: Solar

• Effects: NA

Mitigation scenariosBaselineCurrent accounts



View results
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